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Amplitude Distribution (with pedestal subtraction)
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Integral Distribution (with pedestal subtraction)
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Amplitude (pedestal subtracted)

5000 T T | T T | T T | T T | T T | T T | 11 hampSUb_ZD
B Entries 89160
B Mean x 0
4500 - Meany 0
B Std Dev x 0
4000:_ Std ;)evyO g
E of o] o
3500— 89150 10| 0
3000 —"=0
2500 3 77
- 1 -0
2000~ ]
B 1 ——0.
1500 :— —: 0
10 : I | I 11 1 | I 11 1 | L 111 | I | I 11 1 | I 11 1 | L 111 : | _O
q.%OO 1500 2000 2500 3000 3500 4000 4500 5000 '

gquadsum



10000
9000
8000
/7000
6000
5000
4000
3000

2000

10q%

Integral (pedestal subtracted)

hintSub_2D

Mean x
Mean y
Std Dev x
Std Dev y

Entries 89160
1288
1232

229.6 S

217.7

0 0

0

31 2112

0

8657% 442

0

;ﬁwf?"IIII'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

00 2000 3000 4000 5000 6000 7000 8000 9000 10000

gquadsum

1.5

0.5

0



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


